

PROPOSAL SCHEDULE

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
203.0100	Roadway Excavation	90	C.Y.	\$ 28600	\$ <u>25,740</u>
209.0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$ 10,000.00
312.0100	Plant Mix Glassphalt Concrete Base Course	5,360	Ton	\$ 79.40	\$ <u>425,584</u> °°
401.0400	Asphalt Concrete Pavement Mix No. IV	10,764	Ton	\$ 77.60	\$ 835, 2864
401.0500	Asphalt Concrete Pavement Mix No. V	285	Ton	\$ 468 20	\$ <u>133,57950</u>
407.0100	Emulsified (100%) Asphalt for Tack Coat	12,650	Gallon	\$ 220	\$ 27,83000
604.4550	Adjusting Water Valve Box Frame and Cover	4	Each	\$ 83600	\$ 334400
613.0110	Adjusting Centerline and Reference Survey Monuments	117	Each	\$ 6500	\$ 7,60500
621.0200	Panel for Destination Signs	22.5	S.F.	\$ 5500	\$ 1,23750
621.4030	Reflector Marker (RM-3) without Flex Post	50	Each	\$ 2750	\$ 1,37500
621.4130	Reflector Marker (RM-3) with Flex Post	12	Each	\$ 9350	\$ 1,12200
621.4135	Reflector Marker (RM-3) with Flex Post (State provided material)	61	Each	\$ 2750	\$ 1,67750
621.4630	Reflector Marker (RM-3) Bi-Directional with Flex Post	1	Each	\$ 12650	\$ 126.50
621.4635	Reflector Marker (RM-3) Bi-Directional with Flex Post (State provided material)	51	Each	\$_3300	\$ <u>1,683 °</u>

250A-01-02M r5/07/02 P-13

PROPOSAL SCHEDULE						
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT		AMOUNT	
621.4700	Type II Object Marker	36	Each	\$ 3300	\$ 1,18800	
621.5000	Regulatory and Warning Sign (10 Square Feet or Less) w/out Post	18	Each	\$ 9900	\$ <u>1,782</u>	
621.5010	Regulatory and Warning Sign (10 Square Feet or Less) w/out Post (State provided material)	43	Each	\$_3850	\$_1,655	
621.5100	Regulatory and Warning Sign (10 Square Feet or Less) with Post	21	Each	\$ <u>302</u> 50	\$_6,3525	
621.5110	Regulatory and Warning Sign (10 Square Feet or Less) with Post (State provided material)	52	Each	\$ <u>198°</u>		
621.6110	State Route Marker Assembly (Type A) with Post (State provided material)	8	Each	\$ 17050	\$ 1,364.00	
621.7120	Construction Sign with Two Posts	6	Each	\$ 48400	\$ 2,904 -	
621.7610	Mile Post Marker and Route Number Plate with Post (Bi- Directional) (State provided material)	7	Each	\$ 11000	\$_77000	
629.1011	4-inch Pavement Striping, Yellow (Thermoplastic Extrusion)	13,845	L.F.	\$ 080	\$ 11,076-	
629.1013	4-inch Pavement Striping, White (Thermoplastic Extrusion)	68,321	L.F.	\$ 080	\$ 54,656	
629.1017	12-inch Pavement Striping (Thermoplastic Extrusion)	78	L.F.	\$ 550	\$ 42900	



PROPOSAL SCHEDULE

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT		AMOUNT
629.1018	Double 4-inch Pavement Striping (Thermoplastic Extrusion)	17,296	L.F.	\$ 150	\$ 25,944
629.2030	Type C Pavement Markers	1,735	Each	\$ 660	\$ 11,4512
629.2040	Type D Pavement Markers	1,294	Each	\$ 660	\$ 8,5404
629.2070	Type H Pavement Markers	344	Each	\$ 660	\$ 2,2704
629.2080	Type J Pavement Marker	1,660	Each	\$ 3.30	\$ 5,478 0
636.0100	Field Office (Not to exceed \$32,000.00)	L.S.	L.S.	L.S.	\$ 32,000 00
638.0100	Cellular Phone	F.A.	F.A.	F.A.	\$ 2,500.00
645.0200	Additional Police Officers And/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$ 20,000.00
651.0100	Excavation for Reconstruction of Weakened Pavement Area	30,111	S.Y.	\$ 640	\$192,7104
699.1000	Mobilization (Not to Exceed 10 Percent of the Sum of All Items Excluding the Bid Price of this Item, Field Office, and Force Account Items)	L.S.	Ľ.S.	L.S.	\$ <u>40,422</u> 5
	Sum of All Items			\$	<u>\$ 40,422</u> 50 1,909,98090
	NOTE: Bidders must complete all unit prices and amour	nts. Failure to	do so may	be grounds for	

PROPOSAL SCHEDULE

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to 636 - Field Office and Project Site Laboratory and 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.